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Solve an Applied Percent Problem
Applied percent problems can genernlly be
solved using the following structured format.

(A p@m@mt) of (a totat) LS (a portlom).

(% ) -/(TOtaL) = (Portion)

Let's now use this structured format to solve
the following problem.

A basketball player makes F2 out of 90 free
throws. What percent of free throws ooes the
basketball player malke?

In this problem, the basket player attempts
|90 total free throws. Thevefore, 90 Ls our total.
The player makes 72 of the 90 free throws.
Therefore, 72 Ls our portion.

WeE can now set up an equation usting our
structureo forvmat wheve we Let the variable x
represent the unkmnowmn percent.
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(% ) -\(Toia ) /: (P‘O/rt’w ")
h X + 90 = 72
Here we have the equation x-90 = 7~:2 oY
90x = F2. Solving for x we get, x= 90 or
X=0.8 ns a dectmal.

BLCOAUSE X YEPrESEntS 0 percent, we convert the
dectmal number to a percent by moving the
decimal polnt two places to the right. This gives
Us x=80%.

To properly answer the question, we can write
the following: The basketball player makes
20% of attempted free throws.

Example 1: (f 40 students enrolled tn a music
cloass but omtg 24 completed the course, what
pevcent of students completed the course?
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Example 2: watermelon Ls 91% water. How
moany pounds of a 12 pound watermelon is
watey?

(% ) - (Total) = (Portlon)

NN /S

091 + 12 = X

Example 2: If Thao deposits 20% of her
paycheck tnko o savings account ano the
amount she deposits Ls £255, what was the
total amount of her paycheck?

(% ) - (Total) = (Portlon)

R

030 -+ X
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In the Health Care Career field, many
caleulations tnvolve “wixtures or solutions”
that are made of water and some other
ngredient.

For example, o Liquid solution that is
maviked #5% sodivm means that the solution
Ls #5% water and 25% spdium.

similarly, a 1% Lodine solution means that
the solution s 99% water and 1% Lodine.

Example 4: How much sodium Ls Lin 0
&0 vuilliliter bottle Labeled #5% sodivm?

(% ) - (Total) = (Portlon)

N L Y 4

075 + 60 = X
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example 5: If 46% of a solutlon Ls water and
theve Ls 184 williliters of water tn the solution,
how many milliliters is the total solution?

(% ) - (Total) = (Portion)

Example &: How much M@drocmorlc actd (HCL)
ls n o 70 milliliter bottle that is Labeled =4 %
HCL?

(% ) - (Total) = (Portion)




